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Question 7

The force of interest §(¢) is given by

0.06+0.001 0st<5

501007 s<t

[6)] Calculate the amount to which an investment of £100 made at ¢ =0 will have
accumulated :

(a) by time =3
()  bytimer=7
(i) Hence, or otherwise, calculate the amount to which an investment of £100 made
at time ¢ =3 will have accumulated to by time ¢ =7.
m
Question 8

The ».o-on. of interest 5(¢)is given by

0.02+0.003¢ 0<<7

1) =
o0 0.08 - 0.002¢ 7t

(i) Derive expressions in terms of t for the present value of a payment of £100 due
attimet. You should find separate expressions for < 7and ¢>7.
(i)  Calculate the present value of £1,500 at £ =10.

7
Question 9

Calculate the present value of the following payments:
£400 made at the end of each of the yeats 1 to 15
£700 made at the end of each of the years 16 to 30
if the interest rate is:

6% p.a. for the first twenty years

8% p.a. thereafter
{5]




